CJ' doubtnut

India's Number 1 Education App

MATHS

BOOKS - ML KHANNA

AREA OF CURVES

Problem Set 1 Multiple Choice Questions

£B2 2

1. The area of the elllpse — + :Z—z =1lis

A . mab
B.m(a® + b°) /4

C.m(a +b)


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_2MiCXYmg8ELx

D. None

Answer: A

o Watch Video Solution

2.1f A;, A,, be the areas of the curves

C, z2*+y*+18z+24y =0

22 Y2
and cp 11 + = 1 them
A A1 > A
B.A1 < A»
C.A = A

D. none of these


https://dl.doubtnut.com/l/_2MiCXYmg8ELx
https://dl.doubtnut.com/l/_bvKj9UZ82trP

Answer: A

° Watch Video Solution

3. AOB is the positive quadrant of the ellipse

2 P
=z _|_ b_2 =1 in which OA =a,0B =0b, The area

between the arc AB and chord AB of the ellipse is

1
A. gab(ﬂ' + 2)
1
C L b 2
. ZCL (7T — )
D. None
Answer: C

I o Watch Video Solution


https://dl.doubtnut.com/l/_bvKj9UZ82trP
https://dl.doubtnut.com/l/_smidrTJqY200

4.Find the smaller area enclosed by the circle 2% + y? = 4

and thelinez +y = 2.

A 2(m — 2)
B. (m — 2)
C.(2mr — 1)

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_smidrTJqY200
https://dl.doubtnut.com/l/_9Lf194OkUnkN

5. Area lying in the first quadrant and bounded by the circle

z? + y? = 4theline z = /3y and x-axis , is

AT
B.m /2
C.m/3

D. None of these

Answer: C

o Watch Video Solution

6. Find the area bounded by the curve

Yy = /T, = 2y + 3in the first quadrant and X-axis.


https://dl.doubtnut.com/l/_NtS3JSd5YFiV
https://dl.doubtnut.com/l/_bbNB6IqFDM9q

A.2,/3
B. 18
C.9

D.34/3

Answer: C

o Watch Video Solution

7.The area cut off a parabola 4y = 3z? by the straight line

2y = 3z + 12 in square units, is

A.16

B. 21


https://dl.doubtnut.com/l/_bbNB6IqFDM9q
https://dl.doubtnut.com/l/_Txgv5zJQwRFl

C. 27

D. 36

Answer: C

o Watch Video Solution

8. The area enclosed
y* =z and y = |x| is:
A2/3
B.1
C.1/6

D.1/3

between

the

curves


https://dl.doubtnut.com/l/_Txgv5zJQwRFl
https://dl.doubtnut.com/l/_Zf0pETAHwk5v

Answer: C

° Watch Video Solution

9. The area of the region bounded by the curve r? = 4y

and the straight linex = 4y — 2is

A.9/8
B.9/4
C.9/2

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Zf0pETAHwk5v
https://dl.doubtnut.com/l/_zDlQBonlCTXY

10. The area of the region bounded by the parabola

y* = 4ax and the line y=mx is
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Answer: B

o Watch Video Solution

11. The area bounded by the x-axis, the curve y = f(z),

and the lines z = 1,z = b is equal to \/b*> + 1 — /2 for


https://dl.doubtnut.com/l/_pLjR9hZDKWZR
https://dl.doubtnut.com/l/_vGYlHHf8Hcxm

all b > 1, then f(z) is v/z — 1 (b)

W

V14 z?
A e —1
B.v/x +1

2+ 1

W

vr? 4+ 1

D.

Answer: D

VZ F1 /22 +1(d)

o Watch Video Solution

12. Let f(x) be a non-negative continuous function such

that the area bounded by the curve y = f(z), x-axis and


https://dl.doubtnut.com/l/_vGYlHHf8Hcxm
https://dl.doubtnut.com/l/_IDZr93p2UAOk

the ordinates x = % and z = 8 > % is :

{ﬂ sin 8 + %cosﬂ + \/ﬁﬂ},then f(%) is:

fo-5-)
B.(l—%+\/§>
c.(%+\/§—1>
o (5-v2-)

Answer: B

o Watch Video Solution

13. The parabolas y? = 4z and z? = 4y divide the square

region bounded by the lines x=4, y=4 and the coordinate


https://dl.doubtnut.com/l/_IDZr93p2UAOk
https://dl.doubtnut.com/l/_1ARbYLAo5uMm

axes. If S;, S5, S3 are the areas of these parts numbered

from top to bottom, respectively, then

A. 2:1:2

B. 1:1:1

C.1:2:1

D. 1:2:3

Answer: B

o Watch Video Solution

14. The area of the region lying between the line

r —y+2=0andthecurver = ,/y and y — aés,is

A9


https://dl.doubtnut.com/l/_1ARbYLAo5uMm
https://dl.doubtnut.com/l/_mDsJyc3JRNMt

B.9/2
C.10/3

D. None

Answer: C

o Watch Video Solution

15. Find the area lying in the first quadrant and bounded by
the curve y = z° and the line y = 4z

A2

B.3

C. 4


https://dl.doubtnut.com/l/_mDsJyc3JRNMt
https://dl.doubtnut.com/l/_WiQpz0AWC6j3

D.5

Answer: C

o Watch Video Solution

16. Area bounded by the curve y = z°, the x-axis and the

ordinatesz = — 2 and £ = 1is

Answer: D

[



https://dl.doubtnut.com/l/_WiQpz0AWC6j3
https://dl.doubtnut.com/l/_sAa5fRWeZUPo

l QJ Watch Video Solution

17. The area cut off from a parabola by any double ordinate
is k time the corresponding rectangle contained by the
double ordinate and its distance from the vertex. Find the
value of k ?

Al/2

B.1/3

C.2/3

D.1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_sAa5fRWeZUPo
https://dl.doubtnut.com/l/_tmuR5e4z45y9

18. Calculate the area bouded by the parabola y* = 4ax

and its latus rectum

>
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Answer: A

o Watch Video Solution

19. Let A, be the area of the parabola y2 = 4ax lying

between vertex and latus rectum and A,, be the area


https://dl.doubtnut.com/l/_6B5HDIDLOfyf
https://dl.doubtnut.com/l/_O4Pcseqzk6xr

between latus rectum and double ordinate £ = 2a. Then
Ay B
Ay

A.2y/2 — 1

B. (wz + 1) /7

. <2¢2 - 1) /7

D. None of these

Answer: B

° Watch Video Solution

20. Area of the region bounded by the curve y2 = 4x,y-
9
axis and theliney = 3is(A)2(B) — (C) (D) 5

A.1sq. units


https://dl.doubtnut.com/l/_O4Pcseqzk6xr
https://dl.doubtnut.com/l/_KSIDFUG6Qjw0

B.9/4 sq. units
C. 64/3 sqg. units

D. None of these

Answer: B

o Watch Video Solution

2. What is the area bounded
y = 4z — z? — 3 and the x-axis?

A4/3

B.3/4

C.7

by

the

curve


https://dl.doubtnut.com/l/_KSIDFUG6Qjw0
https://dl.doubtnut.com/l/_5eCgfVdHoXmU

D.3/2

Answer: A

o Watch Video Solution

22. Area between the curve y = 4 + 3z — 22 and x-axis in

square units , is

A.125/3
B.125/4
C.125/6

D. None

Answer: C

[


https://dl.doubtnut.com/l/_5eCgfVdHoXmU
https://dl.doubtnut.com/l/_0R5CNiDuxMMw

l @ Watch Video Solution

23. Area bounded by the curves x = 1,z = 3, zy = 1 and

X-axis is

A.log 2

B.log 3

C.log 4

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_0R5CNiDuxMMw
https://dl.doubtnut.com/l/_lixtUDuTCDL9

24.The area of the loop between the curve y = asinx and

x-axis is (A) a (B) 2a (C) 3a (D) none of these

B. 2a

C.3a

D. None

Answer: B

o Watch Video Solution

25. If A is the area between the curve y = sinx and x-axis

in the interval [0, /4] , then in the same interval , area


https://dl.doubtnut.com/l/_mNR1uTdu7k4f
https://dl.doubtnut.com/l/_ade9UUVcIcsd

between the curve y = cosz and x-axis, is

A A
™
B.-—A
2
Cl1-A

D. None of these

Answer: C

o Watch Video Solution

26.1f A is the area lying between the curve y = sinz and
x-axis between x=0 and x = 7 /2 . Area of the region
between the curve y = sin2z and z-axis in the same

interval is given by


https://dl.doubtnut.com/l/_ade9UUVcIcsd
https://dl.doubtnut.com/l/_fpuxzSVq1SR4

A A/2
B.A
C.2A

D. None of these

Answer: B

o Watch Video Solution

27. Area bounded by the curves y = zsinz and x-axis

between x = 0 and =z = 27 is

A 2w

B.3m


https://dl.doubtnut.com/l/_fpuxzSVq1SR4
https://dl.doubtnut.com/l/_1SRB12Ea10sW

C.4m

D. None of these

Answer: C

o Watch Video Solution

28. The area bounded by
y=cosz and x = — % and x = 2m.and the axis of xin

square units is

A4

B.5

C.6

D.7


https://dl.doubtnut.com/l/_1SRB12Ea10sW
https://dl.doubtnut.com/l/_EqvJlGS8GM0J

Answer: B

o Watch Video Solution

29. Area bounded by the curves y = sin® z,t =0, =

2
andy =0is

A.3/8

B.3/16

C.37 /16

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_EqvJlGS8GM0J
https://dl.doubtnut.com/l/_FGh8uxa7X20u

30. Area of the region bounded by the curves y = tan x, y =
. ™ .
cotxand X-axisin0 < z < 5 is
A.log 2

Bll2
- 5 log

1

D. None of these

Answer: A

o Watch Video Solution

31. Find the area of the region bounded by the curve

s
C:y = tanx, tan > ntdrawn — Catx = T and the x-


https://dl.doubtnut.com/l/_eo3kgQ3w7WUk
https://dl.doubtnut.com/l/_D0NQSJj8HK5Q

axis.

8.~ (log2 — 2
g 18T

1
C. E(logZ — 1)

D. None

Answer: B

o Watch Video Solution

32. Area lying between the curves y? = 4z and y = 2z is

A2/3

B.1/3


https://dl.doubtnut.com/l/_D0NQSJj8HK5Q
https://dl.doubtnut.com/l/_NdZSVJvdn2qL

c.1/4

D. None of these

Answer: B

o Watch Video Solution

33. Find the area bounded by the curves y = 2z — z* and
the straight liney = — x.

A.9/2

B.43/6

C.35/6

D. None of these



https://dl.doubtnut.com/l/_NdZSVJvdn2qL
https://dl.doubtnut.com/l/_4JDR21Rr0A8q

Answer: A

o Watch Video Solution

34. The area of the region bouned by the curve
y =2z — z? and the liney = z is

Al/2

B.1/3

C.1/4

D.1/6

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_4JDR21Rr0A8q
https://dl.doubtnut.com/l/_ftSWVw72tTvL

35. Find the area enclosed by the parabola y = 2 — 2% and

the straight linex+y=0

N w >
|~ o] © o —_
| | \‘|u> @|\1

o

Answer: C

o Watch Video Solution

36. The area of the figure bounded by the curves

v =2z +1landz —y—1=0,is


https://dl.doubtnut.com/l/_IYCVZ1wCsMOZ
https://dl.doubtnut.com/l/_ks347SjVy1a4
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6

C. —
3

D. None of these

Answer: C

o Watch Video Solution

37. Find the area bounded by the parabola y*> = 4z and

the straight linez + y = 3.

A16
-3

B32
3


https://dl.doubtnut.com/l/_ks347SjVy1a4
https://dl.doubtnut.com/l/_vccH8tVG1HcH

D. None of these

Answer: C

o Watch Video Solution

38. The area betweem the curves
y=sin 'z and y = cos !z and axis of x is

A (vV2+1)

B. (v2—1)

C. (3 —2v2)

D. (3 + 2v/2)


https://dl.doubtnut.com/l/_vccH8tVG1HcH
https://dl.doubtnut.com/l/_T72ADbtdNcAz

Answer: B

° Watch Video Solution

39. If the ordinate z = a divides the area bounded by the

1

curve y = cos ~ x and axis of x. Then value of a is.

A.24/3

B. 2¢/2

C.3

D. None of these

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_T72ADbtdNcAz
https://dl.doubtnut.com/l/_SvGBhfcMPPJ1

40. Find the area bounded by the curve || + y = 1 and
axis of x.

A4

B.2

C.1

D.1/2

Answer: C

o Watch Video Solution

41.Find area enclosed by |z| + |y| = 1.

A4


https://dl.doubtnut.com/l/_iFOJGLERyeK2
https://dl.doubtnut.com/l/_fOl5WPP7JAPU

B.2
C.1

D.1/2

Answer: B

o Watch Video Solution

42. Find the area bounded by the curve
y=(z —1)(x — 2)(z — 3) lying between the ordinates

z = Oandx = 3.


https://dl.doubtnut.com/l/_fOl5WPP7JAPU
https://dl.doubtnut.com/l/_JWHudIDQxTw8

D. None

Answer: B

o Watch Video Solution

43. Area bounded by the curve y = z(z — 1)(z — 2) and

axis of x is equal to

A1
B.1/2
Cc.1/4

D. none of these

Answer: B

[ 1


https://dl.doubtnut.com/l/_JWHudIDQxTw8
https://dl.doubtnut.com/l/_UN0mS0mmUKKO

Watch Video Solution

44, The area bounded by the curve *(2a — z) = > and

thelinex=2ais

A. 3ma?
B. 3ma® /2
C.3ma* /4

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_UN0mS0mmUKKO
https://dl.doubtnut.com/l/_SJv5Cugrwet8

45. the area included between the curve zy* = a*(a — )

and y -axis is -

A ma’ /2
B. ma?

C.3ma?

D. None

Answer: B

o Watch Video Solution

46. Area bounded by the loop of the curve

ay® = z°(a — ) is equal to


https://dl.doubtnut.com/l/_4AVVDkUWOeut
https://dl.doubtnut.com/l/_OEE58Laimx1Y

Answer: B

o Watch Video Solution

47. The whole area between the curve
y’(a —z) = z*(a+x),a >0 and its aympototes is

equal to

iy
A2 2(1 —)
a —+ 1

i
B.2 2(1 —)
a + 3


https://dl.doubtnut.com/l/_OEE58Laimx1Y
https://dl.doubtnut.com/l/_3VfQlNvVCnRY

Answer: A

o View Text Solution

48. The area enclosed between the curve y = log,(z + €)

and the coordinate axes is

A3
B.4
C.1

D.2


https://dl.doubtnut.com/l/_3VfQlNvVCnRY
https://dl.doubtnut.com/l/_J2xuXU9eIDje

Answer: C

o Watch Video Solution

49, The area included

y? = dax and z? = 4byis

8
A. Eab

16
B. ?ab

C. %ab

D. None

Answer: B

between

the

parabolas

o Watch Video Solution



https://dl.doubtnut.com/l/_J2xuXU9eIDje
https://dl.doubtnut.com/l/_Xgalgb4IrWI6

50. Area common to the curves y = ,/z and = = VY is (A)
2 1
1 (B) 3 (Q) 3 (D) none of these
A1l
B.2/3

C.1/3

D. None of these

Answer: C

o Watch Video Solution

51. The area inside the parabola 52> — y = 0 but outside

the parabola 22> —y +9 = 0is


https://dl.doubtnut.com/l/_d33gk5Vmry5u
https://dl.doubtnut.com/l/_Ja8Cd8ADc9n1

A.124/3
B. 64/3
C.8+/3

D.4+/3

Answer: A

o Watch Video Solution

52. If the area enclosed between the curves
y = az’andz = ay®(a > 0) is 1 square unit, then find the

value of a-

Al/y/3

B.1/2


https://dl.doubtnut.com/l/_Ja8Cd8ADc9n1
https://dl.doubtnut.com/l/_6EoYRhatFSuO

C.1

D.1/3

Answer: A

o Watch Video Solution

53. The area common to the parabolas y = 2z and

= 2% +4(i 't)'(A)E(B)—(C)g(D)i
y=1= in square units) is (A) < 5 3 2

A.16/3
B.8/3
C.32/3

D. None of these


https://dl.doubtnut.com/l/_6EoYRhatFSuO
https://dl.doubtnut.com/l/_6qWZB93iX5ut

Answer: C

o Watch Video Solution

54. Find the area of the figure bounded by the parabolas

r= —2%z=1-3y%

O
Wl Wk woe w|o

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_6qWZB93iX5ut
https://dl.doubtnut.com/l/_CRB5hu4qPkW0

55. The area common to the circle z? + y? = 16a” and the

parabola y* = 6az is

A 4;“2 (47'(' — \/3>

3
4 2
B %(871’ —3)
4 2
C. = (4w + 3)
D. None
Answer: C

o View Text Solution

56. Area common to the circle 2% 4+ y?> = 64 and the

parabola y* = 6az is


https://dl.doubtnut.com/l/_n05YgPM1jdUQ
https://dl.doubtnut.com/l/_XREFbF4fcT3z

A (4 43

B.

(37— V)

—t
w| 5

C. (47— 3)

D. None

Answer: B

o View Text Solution

2
x
57. Area included between the parabola y = i and the

: : 8a® .
witch of Agnesiy = ——— is
z? + 4a?

2
A %(671’ —4)

2
B. %(47r +3)


https://dl.doubtnut.com/l/_XREFbF4fcT3z
https://dl.doubtnut.com/l/_w2JLLGRT3PyX

C. %(8% + 3)

D. None

Answer: A

o View Text Solution

58. The area of the region between the curves

1+ sinz 1 —sinzx
y =4/ —— and ——— bounded by the
cos T CoS T

y:
T
Iines:czoand:czzis

V2-1 1
A dt
/0 1+82)VI_&

V21 4t
B./ dt
0 (14 t2)v/1 — 2

C./ dt
0 (14 ¢2)v1—¢2



https://dl.doubtnut.com/l/_w2JLLGRT3PyX
https://dl.doubtnut.com/l/_s4ae5vBh560b

V2-1 ¢
D./ dt
0 (1+#2)y/1 — ¢2

Answer: B

° Watch Video Solution

59. The area of the figure bounded by the curve

|y| o 1_5627 is

©
w|oo Wk w|

D. None

Answer: C

f


https://dl.doubtnut.com/l/_s4ae5vBh560b
https://dl.doubtnut.com/l/_ag7WnkwJj1Mj

l o Watch Video Solution

60. The area bounded by the

1
y=(z—-1)°"y=(z+1)° and y=is

Al/6
B.2/3
C.1/4

D.1/3

Answer: D

curves

o Watch Video Solution



https://dl.doubtnut.com/l/_ag7WnkwJj1Mj
https://dl.doubtnut.com/l/_J9Dwv0hL1eNt

61. The area of region bounded by y = [z — 1| and y =1

is

A1
B.2
c.1/2

D. None

Answer: A

o Watch Video Solution

62. The area of the region bounded by the curve

y=|z — 2|,z =1,z = 3 and the X-axis is


https://dl.doubtnut.com/l/_GShFUFjfWCOK
https://dl.doubtnut.com/l/_HfgBHfpEkqYR

A1l

B.2

C.3

D.4

Answer: A

o Watch Video Solution

63. The area of the region bounded by the curves

y=|r—1 and y = 3 — |z| is-

A2

B.3



https://dl.doubtnut.com/l/_HfgBHfpEkqYR
https://dl.doubtnut.com/l/_FUIBpsOXgRVw

C. 4

D.6

Answer: C

o Watch Video Solution

64. The area bounded by the curve y = x|z|, x-axis and the
ordinates x=1,x=-1is given by

A.O

B.1/3

C.2/3

D. None


https://dl.doubtnut.com/l/_FUIBpsOXgRVw
https://dl.doubtnut.com/l/_fWY7RgHL4ina

Answer: C

° Watch Video Solution

65. Area of the region bounded by the curves

y=2y=2z —z*, =0 and x = 2is given by:

D.3log2 + %

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_fWY7RgHL4ina
https://dl.doubtnut.com/l/_Zydghoset6uW

66. Area of the region bounded by the curve y = e and

linesx = 0andy = e is

Ae—1

B./ In(e + 1 — y)dy
1

1
C.e — / etdzx
0

D./In y dy
0

Answer: B::C

o Watch Video Solution

67. The ratio of the area of the region bounded by the

curve a*y? = (2a — z)z° to the area of the circle whose


https://dl.doubtnut.com/l/_awitIqdKiXWH
https://dl.doubtnut.com/l/_D6GD0eaZI6aN

radius is a, is given by

A.4:5

B. 5:4

C.2:3

D. 3:2

Answer: B

o View Text Solution

68. Find the value of ‘c’ for which the area of the figure
bounded by the curve, y = 82>~ z°, the straight lines x = 1

and x = c and the abscissa axis is equal to 16 /3.

A2


https://dl.doubtnut.com/l/_D6GD0eaZI6aN
https://dl.doubtnut.com/l/_hzqoPW4Nm6pJ

C.3

D. none

Answer: D

o Watch Video Solution

69. The area between the curves y = sinx and y = cosx

bounded by thelinesz =0 and = = 7/2is

A2 -1

B.O

C.2(v3-1)


https://dl.doubtnut.com/l/_hzqoPW4Nm6pJ
https://dl.doubtnut.com/l/_ADAyi0Dp205G

D.2(v2 —1)

Answer: D

o Watch Video Solution

70. The area bounded by y:me|“’| and the lines
x| =1,y =0is

A 4

B.6

C.1

D.2

Answer: D

[ 1


https://dl.doubtnut.com/l/_ADAyi0Dp205G
https://dl.doubtnut.com/l/_Eibg9MZ9kfuw

Watch Video Solution

71. The volume of the solid obtained by revolving about y-
axis the area enclosed between the ellipse 2> + 9y* = 9
and the strangth line x 4 3y = 3, in the first quadrant is

A 3m

B. 4w

C. 67

D. 97

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Eibg9MZ9kfuw
https://dl.doubtnut.com/l/_ZzJCyLtyB2tN

72. The slope of the tangent to a curve
y = f(z)at{z, f(x)} is 2z + 1. If the curve passes
through the point (1, 2), then the area bounded by the

curve, the x-axis and thelinexz = 1is

A5/6
B.6/5
C.1/6

D.6

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_vBsI7uMsXPui

73. For which of the following values of m is the area of the
regions bounded by the curve y =  — 2 and the line

y = ma equal %? —4(b) —2(c)2(d) 4

C.2

D.4

Answer:

o Watch Video Solution

Problem Set 1 True And False


https://dl.doubtnut.com/l/_Xnm9L0PpfLrw
https://dl.doubtnut.com/l/_Zd5eLBJClf61

1.Find the smaller area enclosed by the circle z® + y* = 4

and thelinez +y = 2.

o Watch Video Solution

2. Area of the region bounded by curves

7
y=z’+2,y=z,z=0and ¢ = 1z’sl—6.True or False

° Watch Video Solution



https://dl.doubtnut.com/l/_Zd5eLBJClf61
https://dl.doubtnut.com/l/_t6hGpJB7IyOP

3. Area bounded by the curve

v = x* :1x<0
X :xz20

and the
line y = 4is20/3.True or False
o Watch Video Solution
4, Area bounded by the curves

y= |z — 1|,y = 0 and |z| = 2is5. True or False

° Watch Video Solution



https://dl.doubtnut.com/l/_mrXbZIwB5HHo
https://dl.doubtnut.com/l/_lAu33qf3Wncl

5. Area enclosed between the curve ay = 3(a2 — mz) and

the X-axis is

° Watch Video Solution

2andy = 2
y= 1+ 2

6. The area between the curves y = « is

equal to

o Watch Video Solution

7. The area bounded by the parabola y = z? and the line

y = 2xis4 /3 sq. units.

o Watch Video Solution



https://dl.doubtnut.com/l/_c8EPDDu5md8R
https://dl.doubtnut.com/l/_80wVzhUlqfbZ
https://dl.doubtnut.com/l/_UsFZx7TxmRyO
https://dl.doubtnut.com/l/_onY6UdhYQpr1

8. The area included between the parabolas
8
y* = daz(z + a) and y* = 4b(b — x)is§\/ab(a + b)

True False

o View Text Solution

9. The area between the parabolas
8
Vv =4z, =z andz =12 = 4z's? sg. units.True or

False

o View Text Solution

Problem Set 1Fill In The Blanks



https://dl.doubtnut.com/l/_onY6UdhYQpr1
https://dl.doubtnut.com/l/_I5WRFHhQUxvp

1. Find the area of the region lying in the first quadrant and

bounded by y = 42?2 = 0, y = landy = 4.

° Watch Video Solution

2. Area between the parabola y? = 9z and the liney = z

o Watch Video Solution

3. The area common to the curve y*> = z and 2% =y is

o Watch Video Solution



https://dl.doubtnut.com/l/_vXA5A1cy7v9k
https://dl.doubtnut.com/l/_CjC3vWSYLPaU
https://dl.doubtnut.com/l/_136bcvRygwAd
https://dl.doubtnut.com/l/_VJVlDy0O1yrF

4. Find the ratio in which the area bounded by the curves

y? = 12zandz? = 12yis divided by the line z = 3.

o Watch Video Solution

5. The area bounded by the normal at (1,2) to the

parabole y? = 4z, x-axis and the curve is ...

o Watch Video Solution



https://dl.doubtnut.com/l/_VJVlDy0O1yrF
https://dl.doubtnut.com/l/_TTYljnbKWphD

f(X]= xz:xc:[l

X :x20

6. Let Area
bounded by the curve

y= f(z),y =0 and — 9a2is9% Thena = e

o Watch Video Solution

2

7. Area of the region bounded by the curve y = sin® x and

z=0,y=0and £ = 7/2S cerrree

o Watch Video Solution



https://dl.doubtnut.com/l/_krJX7DfYLnGR
https://dl.doubtnut.com/l/_XbA8rN40pLBB

2 2

8. The area bounded by the hyperbola z* — y? = a

between the straigth linesz = a and = = 2a is ...

° Watch Video Solution

9. Area of the segment cut off from the parabola y? = 4z

by the liney = 8z — 1is ...

o Watch Video Solution

10. Area of the region lying between the curve y = z° and

theliney = Z is weuneeen.

o Watch Video Solution



https://dl.doubtnut.com/l/_AavR0q6xTRsP
https://dl.doubtnut.com/l/_0JtzXHmToI11
https://dl.doubtnut.com/l/_KfqRFiqcMO5H
https://dl.doubtnut.com/l/_IVu76JFnf5mX

11. Find the area lying above x-axis and included between

the circle 2 + y? = 8zand the parabola y* = 4z.

o Watch Video Solution

12.The line y = mx bisects the area enclosed by the curve

3
y=1+4z — z? and the lines z = 0,z = —andy = 0.

2
13 6 3

Then the value of m is ? b. 1—3 C. D) d. 4

o Watch Video Solution

13. Sketch the curves and identify the region bounded by
z=1/2,z =2,y =log, x and

y = 2. The area of this region is ...



https://dl.doubtnut.com/l/_IVu76JFnf5mX
https://dl.doubtnut.com/l/_oojDjevHqFSN
https://dl.doubtnut.com/l/_AEIyzqs6iBn6

l @ Watch Video Solution

14. Indicate the region bounded by the curves
z? =y, y=x + 2 and x-axis and the area enclosed by

them is ..............

o Watch Video Solution

15. Find the area of the closed figure bounded by the

curvesy = /x,y = /4 — 3zandy = 0

° Watch Video Solution

Self Assessement Test


https://dl.doubtnut.com/l/_AEIyzqs6iBn6
https://dl.doubtnut.com/l/_Ko0lo5206KF4
https://dl.doubtnut.com/l/_QQ22AyXAbXwk
https://dl.doubtnut.com/l/_WPJykQzl8YZy

z*(1 — x

4
dz is (are)

1.,.4
1. The value(s) of/
0

Answer: A

1+ =x

2

° Watch Video Solution

2.The value of the integral

) }cos xdzxis

w/2

/ {w2+10g(7r+:v
T—

—m/2



https://dl.doubtnut.com/l/_WPJykQzl8YZy
https://dl.doubtnut.com/l/_fz0L0Lzjcyes

2
T
B.— —4
2
2
T
C.— +4
5 +
5 T
"2
Answer: B

o Watch Video Solution

Vlog3 rsin x>
3. The value of/ 5 dzx is
Vg2 sinz” 4+ sin(log6 — z?%)
A 11 3
- og 5
B 1l 3
‘3 og 5

3


https://dl.doubtnut.com/l/_fz0L0Lzjcyes
https://dl.doubtnut.com/l/_NXPZnYjCBfrL

Dll 5
- glog 5

Answer: A

o Watch Video Solution

4, / [cot z]dz, where [] denotes the greatest integer
0

function, is equal to

AT
"2



https://dl.doubtnut.com/l/_NXPZnYjCBfrL
https://dl.doubtnut.com/l/_Um7FsxhC4djV

l ) Watch Video Solution

5. Let p(xz) be a function defined on R such that
p'(z)=p' (1 —2) for all =z€[0,1],p(0) =1, and

p(1) = 41.

1
Then / p(x)dz is equal to
0

A v41
B. 21
C. 41

D.42

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Um7FsxhC4djV
https://dl.doubtnut.com/l/_rggvOA08po9w

T
6.1f g(xz) = / cos* tdt, then g(z + ) equals
0

9(z)

A.
g(m)

B.g(z) + g(m)

C.g(x) — g(m)
D. g(z). g()
Answer: B

o Watch Video Solution

7. Let f be a non-negative function defined on the

interval[0O,1]. If


https://dl.doubtnut.com/l/_RjkoqaVlyovZ
https://dl.doubtnut.com/l/_4CRd22ucvv7A

/\/1— 2 dt = /f )dt,0 <z <1 and f(0) =0

‘then
Af(%) < % and f(%) > %
Bf(%) > % and f(%) > %
Cf(%) < % and f(%) < %
o (1) - (1) < 1

Answer: C

o Watch Video Solution

8. Let the straight line x = b divide the area enclosed by

—(1-2),y=0 and =0 into two parts


https://dl.doubtnut.com/l/_4CRd22ucvv7A
https://dl.doubtnut.com/l/_O8LFcrLWRem5

Ri(0<xz<b) and Ryb<z<1) such that

1
R, — R, = Z.Then b equals

A= W= R | w

Answer: B

o Watch Video Solution

9. The area of the region bounded by the parabola

(y — 2)> = z — 1, the tangent to the parabola at the

point (2, 3) and the x-axis is


https://dl.doubtnut.com/l/_O8LFcrLWRem5
https://dl.doubtnut.com/l/_C8M9dnnrIASQ

A.3

B.6

C.9

D. 12

Answer: C

o Watch Video Solution

10. Let f:[ —1,2] — [0,00) be a continuous function

such that flz) =f(1—2), Ve e [—1,2]. If
2

R, :/ zf(x)dr and R, are the area of the region
-1

bounded by y = f(z),x = — 1,z = 2 and the X-axis.

Then :


https://dl.doubtnut.com/l/_C8M9dnnrIASQ
https://dl.doubtnut.com/l/_x1MGgmN4ADXv

A R, = 2R,

B.R; = 3R,

C.2R; = R,

D. 3R1 = R2
Answer: C

o Watch Video Solution

1. The area of the region enclosed by the curves

Yy =1z, = e,y = — and the positive x-axis is
x

1
A. 2 sg. units

B.1sq. units


https://dl.doubtnut.com/l/_x1MGgmN4ADXv
https://dl.doubtnut.com/l/_RYPfmga0uLjR

C. — sqg. units
5 g. uni

D. — sg. units
2 q

Answer: C

o Watch Video Solution

12. The area bounded by the curves y = cos x and y = sin x

3
between the ordinates x=0and z = BB is

A 42 —2
B.44/2 + 2
C.4y2 -1

D.4y/2 41


https://dl.doubtnut.com/l/_RYPfmga0uLjR
https://dl.doubtnut.com/l/_Rbfmji4CWhIX

Answer: A

o Watch Video Solution

dt

13. The value of lim
z—0 333

] /wﬂm1+ﬂ
0

tt4+4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Rbfmji4CWhIX
https://dl.doubtnut.com/l/_6dSqFQjO01xF
https://dl.doubtnut.com/l/_Ywmmx1wQBF9D

14. Let S be the area of the region enclosed by

1
y=e ¥ " 2,y=0,z =0,andx = 1. Then SZE (b)

§>1= 2 s< (142 (d)
> 1= - <7\t 7
S<— 4+ —(1--2
V2 e V2
AS> =
€
3.5 < =
€
CS<1 1+ -
5< 7 NG
1 1
D.S< —[1- —
4( ﬁ)

Answer: A::B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_Ywmmx1wQBF9D

15. For any real number x, let [z]= largest integer less than
or equalto x. Let f be a real valued function defined on the

interval| — 10, 10] by
x - [x] if[x] is odd
1+ [x] — x if[x] is even

flx) =

Then, the

10

2
value of (110) ( f(x)cos redx is

—10
A4
B.5
C.6

D.1

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Ggm8bBdacBQi

16. The area (in square units) bounded by the curves

y=+z,2y—z+3=0,

quadrant is

A.9
B.36

C.18

Answer: A

x-axis, and lying in the first

° Watch Video Solution



https://dl.doubtnut.com/l/_Ggm8bBdacBQi
https://dl.doubtnut.com/l/_wGArKZVqhthp

